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‘ Ifgeh YT Linear Programming ’

* The mathematical experience of the student is incomplete if he never had
the opportunity to solve a problem invented by himself. — G POLYA +»

12.1 95T (Introduction)

FrEE | S SFAn W foer-fanel Y Ter €1 wen
XI¥ 894 |1 =R Ui ot ek srafenstl i Waw
srafgepeti o T o eeiEia fequr 9 ' fHepte o
famg ® stemm w9 ¥ e H wE ermant H
sTafeRTeT A o e ainfed &1 39 s1e | 89
e sraftsmetaien o fFmE w1 A= < T s
IrEdfaeh S i GHES! F g HH H STAN B4
Tk TR A S aegetl S A9 eI i
FrEEE w1 ¢ fEw & fm S 9 Rs 50,000 3R
@ & U e 60 TEgal o T TE B U A W
Rs 2500 3R T &l W Rs 500 H1 AN A 2| a8 L. Kantorovich
SHH ol © foh Uk BT i SRt 98 Rs 250 3R Th pdl 1 o=H & Rs 75
A1 HAT bl &1 A AT fof o qeft aegetl 1 o= Tohar € foeeh! o o7 wlsan
% T4 98 WA =Tedl € T feraet Aeil wd il w1 @l wifey qif Sueed fEw
TR W ITHT TR o9 STferkag 2l
G YRR 61 GRS TS0 9= YR 1 GEeel § o o1 SAfuehdwieni i
AR kT ZATHIHIT TS T T fha1 ST 8, TaHsi 90t Seardl 21 o:
TRAARN T | fUhan oY, ZAq9 ARG 91 e 1 =AaH ST Sfmfed 7
g dumA g U 9 Afeh Th qewgel YR i Sedusi IHeE € 3R
I Sfeaifad seaaet gaen ot uw Was g guen g1 SEn, v,
Yeier fore e o foasga gemaan o SR e e Taerd srefus qewd &1 2l
M A |, B9 o e FIHT THET 3R S+l i@ fafer gri ea ferrer
1 AT HU| TafU 39 YN TS H1 7 Fepier o fou s fafuet «f 2

Rationalised 2023-24



404 wfora

12.2 Yfger Womes wuen o STt oS AT (Linear Programming

Problem and its Mathematical Formulation)

T ST T Tt ST ST o W1el WRH hid € S foh &1 =R R aredt wwe
o T F3TehT0T S1era TUrdd Uiy o1 ARTeRE M| 36 330 § gH eAHyaeh
@ &
() =M o o Al 1 AsH A HdE A1 <A % g o e Y Hend 2l
zaeh Sfaftea 98 faw o fafu= aismres fafied @ fafa= e s g
(i) Fo aifers weveyul el =1 sraiel o1 ot THee § S SHeRT e stfuenan
Rs 50,000 a9 Hifid € qon SHok G 31fushad 60 a&gsti 1 T@d o forg wom
ST B
T T & o7 FE FO T Tk shewt B % 'R w1 feeE #w €,
TGfeT 98 50,000 <+ 2500, A 20 =l 1 @S Gehal 21 39 feafd & Iqah1 Gher oy
Rs (250 x 20) = Rs 5000 g
M AT o 9 g B9 7 TUKH hael HiEl € Gled w1 wEH i 81 ad
€ AT IS Rs 50,000 T TR H 50,000 + 500, 3T 100 FHTEaT € @lg Feha
21 W € e 60 T I € T Hehal B q: T8 60 A A TS o foaw e
g fSEd 38 el a9 Rs 60 x 75 314fq Rs 4500 & gFMI
Tt 3R oft gd TR HAeTT €1 S % fon 9% 10 T SR 50 FEEt =i
HT =TI F Gohal 7, ek ST TH 60 TG 1 WA T LIH U 71 39 Ferfy
H IR Fha a9 Rs (10 x 250 + 50 x 75), T4 Rs 6250 A<
3: BH TG W © 16 Bl eI Tt == fafue o g et o i
o9 Y Fehal B AR fafa=t e gismietl &1 Aot fafa= o9 e Fonm|
319 9L IE ¢ Toh 39 ST oF TR 1 SfehaH ol 9| i o T foRE YRR
e & =1few? 39 U 1 SW A o foTu gH wmen 1 M FEn S
YA AT A8l

12.2.1 GO&T @71 TiUrdtT H\??W (Mathematical Formulation of the Problem)
oA St o ASfi w1 WAy 3R i i we y ® R WAt S wliE @)
W x 3R y TR % 3?%
x>0 (O ) (D
y>0 ..(2)
Hifr o= iR pfdal #1 gem ForAs T 8 g 2l
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AN (HFERET) W ATehad o= TR (T T8 Rs 50,000 ©) 1 691 3 1
eI ® IR AR o U ohee 3tfushad Seqel (Tl T8 60 ®) i W@ o fog
T FT Y B

AT ®9 § e FH W

2500x + 500y < 50,000 (fe1 =aw )
pI 5x+y <100 .. (3)
R x+y <60 (HTETT HE) (@

ZIER T YRR 9 991 1 AEdl ¢ SUHT Y Z (HFT) SAtiehan 8 3k e
x 3N yoh e o ®9 | fefefead YR @ = fman ST gk €

Z = 250x + 75y (ST e FHeal ©)
TEd GEE 1 37d OE w9 H qiEfid 8 Sl e
Z =250x + 75y %1 SAIHTHHIT HITSY

Sl =aty frefatad ©
5x +y <100

x+y<60
x=20, y=20

zafaT g9 e e Z 1 SATHehaHiehiol il € e RO =1 arell iEs
SRl % w1 o faem fefm@l o =y o e TS g o= greE §
& o e o 1 =AaHieRT fmar Sar € S Foid =R el e st
& w9 H g faviv fraf@l o oretiy =9 fory < 21 ud goenet o e g
THET Fed B

3d: Tk sk JH IS 9% 9IS € S fR x 3R y S $ oFs WX o Tk
fasw wed 7 (S & 329 %o FEdml €) 1 $ad GETd/Sehedd gaTd a
(SAfersha® = =IAqH /) I B W el fd €1 Hidse e € o =R moie quiie € iR
3 Wash erafemet o ag=ea aw el w Gqe i ¢ aw 98 9 ad § %
gren § geft o dey Wes § Seofs g 9 aregd € T e wom o fae
ERIE LRl

M 9gH W U4 €9 376 o R (RR T S E R ) 1 S w9 9
wfenfid H1 et i W@ w0 os g gueet § w3
ILYT Wi UEh BeH Z = ax + by, Sk q, b =X © TSR Siferepauienor a1
S[AHIHT BT § Tk ah $E99 el HEdr B
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ST SR | Z =250x + 75y Tk @ Sed ®er €1 = x 3Ry foiasw
T HEAM B
eI Th ash GUEE G & =R R faw s@femeti a1 gt a1 giaey
SeRIY Hedd &1 Ufdad x>0, y > 0 0K oY hedd &1 ST See 4 (1)
T (4) q RS &1 T R Feeld
AR GEITE GHENT fAfved el & o1 srafientst o weaa g fAuifa e
St =Rl (T q W xR y ) H Wew o i Afrkan A =Fa w, gedd Ed
THE FEdd g1 Wk qum gaend uh e g S sedd gETd gue ?)
GETd G AR R/ ATl 9 il ol @8 | Tgo T s0ad JoTd G a2
faesh T 1 GHE 1 TH S

31e & oo 3 foh wh ae umE SHen i e YR g TR S €l
TH A § g ohadl A fafy 9 g gefug ©

12.2.2 IRaer QT QIS & §T I F HTAGT &3 (Graphical Method

of Solving Linear Programming Problems)

Fe X1, ¥ g4 9@ g € o 59 9R @ w1 x 3Ry § gefud e s
el 1 @ Eiwd & den s fafy g/ Tt F R Bl o wH e 12.2
¥ fod=q &1 g o iR pfdal & fa9r o) GHEn #1 Sooi@ w4 o9 6 39 qHE
1 NG R B HUT| 379 gH AEeh FHHIHN o &Y Y0 Sl i @ Gid:

S5x +y <100 .. (1)
x+y<60 .. (2)
x>0 ... 3)
y20 . (@)

39 T &1 oM@ (SHifea &) o
sHERl (1) ¥ (4) 9% & g fa
Tl sreddell & SvEtTs faget @ ffda €
T &4 H Yo fog Al (SFeErE) &
Uil IR i o Fem e o fog ge
faehed Tegd T 81 3afeT 78 & gHen
1 GHT &5 heardl € (3T 12.1)1 39
933[ T T&F ﬁrg O W Rl Y Sx+y=100 x+y=60

FHEA TTeRta 12.1
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a1d: &9 = 1 gt s 2

TETE & I50 99 o foau U as TR 9uE o RO SFel x, y > 0 9
it ereidl gry o Syafss e e &9 (A1 B &) el € SR 12.1 |
& OABC (Mifehd) THEN o foiu gamd & 81 gUa &= & sifafiea <t &7 8 =9
ST &5 hEd B
AT T GHg GO &5 oF 3d: WN a1 § ok 9 fog eyl o geT s
heelld &1 Shfd 12.1 & GHTG & OABC o 3fd: 9T qen diar & it fag gqen
o gUTa B WEiid wed Bl S o faw fSg (10, 50) WHEN %1 T gET T
2 @R 3 ¥R 55 (0, 60), (20, 0) 3R +ff &t T

GO B o STel 1 IS f fag SGHT g wedd € See o fau g
(25, 40) THEAT T TG B 2l
TEAH/AHATH (GETd ) TA: U &F § HE 65 S 3299 Fed Hl geqq 7
(Afrhdd a1 =FAH) <, TH TRGH B HEAM

39 B9 2@d § foh gET &% OABC ¥ Wi foig (1) ® (4) o # wew ol
Feiel 1 W H ¢ AR UH d fag ¥ we we € 2 f w9 Sivd e
Z=250x +75y o SAfuehan ¥H act f9g & fohd TR F1d e o1 9o 31 39 feerfa
1 g I o Ty 8 T g ol STEn S i T e qiume geenst w g
FC ¥ got fagia (smaRyd) {1 3 THAl i SUAfd 36 Tk oh faa-o%g ¥ e 2|

T 1 A TR Tk ek W S ok forg R e et (STl 9g9s) § S "
& Z = ax + by 2T Fe 21 & Z F1 Tk g5eq9 A (3Tfeshad a1 <IAq9) = el
el ¥ Feiferd =R x 3 y a0 g oA B qe e TRAH A GETd &
& ®H (M) W erafed g =feul

T 2 " TR Uk sk WU SHE o foe R GHT &5 € 99 Z = ax + by S
e 21 A% R IRag &7 8 99 3evd Ho Z, RH <Al fushdn iR =Haq 7 T
%Sﬁ'{ﬁﬁ@WRa?W (corner) ﬁg(sﬂﬁ) R feod B 2

feuguit AR TIREG 7 79 SE9F Hel h1 AfIRdH a1 FAq9 I w1 e T ot
B Tehal 81 fRY oft = =e forme ® df Ro 19 fog W e =ifge, (v 1 o
IER)

ST I § Uleg (GHTA) & o S 55 0, A, B 3R C € 3iR forgati &
fdetien 1@ KT WA B 9241 (0, 0), (20, 0), (10, 50) 3R (0, 60) FHH: i fog & o1
e 3 fagell W, Z % A 916 S 2
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o€ 39 TN €
[ETT &7 o e | Z ok " am
0 (0,0) 0
C (0,60) 4500
B (10,50) 6250 <— | sfaeaw
A (20,0) 5000

7a e s © fF oFemrt &1 few FisEr (10, 50) @tefq 10 B SR 50
il & wlisd § sifswad a9 gl
w4 fafy & f= w1 gwifaw 2
1. @ YR EE 1 GET & 9 BT 3R 38w faget (i) w1
a1 @ e 9 stean 3 W@re o gidess fog i a1 W@rel wi 9Hien a5
F¥eh 39 fag 1 Fa FifSw
2. S WO Z=ax + by %1 A Y %G f6g W Fd ity 7 R M SR
m, FAA: 37 fagenl | eiferran qon =Haw 4 weiid wd #)

3. () v& gETd & uRag €, M 3R m, Z % eiferhad iR =9 A B
(i) T fefa ® S gETa & TufiEg @ o 71 frefafea fafr w1 swE e
4. (a) M Z I Afuehad 91 od © 4% ax+by>M FR UK 1H-qel &1 i
fag Qo &5 | 7 U2 oy Z i Afushad wE Tl 2l

(b) TEH YR, m, 1 ZH1 FAd9 T od € IR ax + by < m 5 91 Gat
arefaet SR GO &5 W HiE fag swEtTe T 81 e Z w1 #iE <ad
M &l 2

T 319 S TN o g HiAE fafy & 9= w1 T wI:
SETET0T 1 3o gRI T Waeh W e i gl it
= =l & efad
x+y <50 . (D)

* GETA &9 H w65 &9 w1 & FE fog g @ S e w1 yfaesed fag @

o T Pak GHEW TR F GETd &7 Ufeg el Sl § Ak 7€ Tk 94 o fdiid uReg
a1 S Feha1 B o1 W oTIfEg hed B oTuieg | arcqd © fh gua e fedt of fgonm o
srefifd =9 @ FeME S Hehdl 2
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3x+y <90 .. (2)
x20,y20 .. (3)
Z = 4x +y &1 f¥had AE A@ HifQ:
T ST 12.2 H BHIhd & (1) | (3) o el o e o g1 Fuiia gema
& 21 W Trdiert &td © o gETa &% OABC Reg 81 0T 6 Z 1 SAferehad |
T4 & o fow e fag fafy &1 3w &

i fog 7 §Tq W
(0,0) 0
(30,0) 120 ¢ | Aferehan
(20, 30) 110
(0, 50) 50
TR 12. 2

HHg fagei 0, A, B @R C o Fwniss sw: (0, 0), (30, 0), (20, 30) 3R (0, 50) 2l
36 Y S f6g WZ w1 °E A1 HW B
ad: f9g (30, 0) W Z 1 Mfushad A 120 21

IEECOT 2 oy fafy g e e diume wEen woga st
=1 =ee o 3Tavia

x+2y2>10 .. (D
3x+4y <24 .. (2)
x=20,y2>20 ... 3)

Z =200 x + 500 y T =FaH HF TG FHIST

T S 12.3 H SAhd &4, (1) ¥ (3) o HIHl o (e g FUiRka goma
&5 ABC € Sl ufteig 81 s fagefl A, B iR C & fewnss saw: (0, 5), (4, 3) 3R
(0, 6) €1 BF T fagati W Z = 200x + 500y T 9 @ H &
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Y B 2
@ fog | 2% 9 3=
(0, 5) 2500
4,3) 2300 <
(0, 6) 3000
(10,0
X" l X
, x+2y =10
Y 3x+4p=24
3TTeRfd 12.3

ad: f§g (4, 3) W Z % a9 AE Rs 2300 9 Bl 21

TETEA0T 3 STerE fafy 9 7 wmen & gd &t
=1 el o Sidd
x + 3y <60
x+y2>10
x<y
x=20,y>20

Z =3x+9y 1 FAq9 3R Afwad 7H T@ Hife)

. (1)
.. (2)
.. (3)
.4

T Tod Ued B (1) ¥ (4) d i g s o Feam o gama & @
ITeiE Eied €1 GETA &5 ABCD w1 3Tiehfd 12.4 | fe@rman w0 21 &5 uReg 81 i

@ fog | 2% 9 am
Y S Z =3x +9y
7 A (0, 10) 90
B (5, 5) 60 <=
C (15, 15) 180 AfaeRad
D (0, 20) 180}e (3% 3= =)

x+3y=60

3TTeRfd 12.4
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fagell A, B, C 3R D& fadeniss waw: (0, 10), (5, 5), (15, 15) 3R (0, 20) €| 216 &4 Z
o a9 IR Afwan OF 9@ A % fow w1 g fafa w1 swEm ww@ €
gt | g9 gETd & f9g B (5, 5) W Z 1 FAAH AN 60 IE H 2

Z o Afuehad 1 G &5 o ] i fage ge&w C (15, 15) 3R D (0, 20) W
120 9Tt Bial €l

feoguit ftero Sifse o Swie S0 |, e s fagafl C 3R D, W 9HH g
& Wl €, i <Al forg ol eifershad A 180 S R €1 UE feerfei o < b
faget i fiem™ aret W@Ee CD W 9 g @en C X D ot ush &t ifuham oM <
g ot 3u feufa 7 off T ® AR @ fag 9@ <A 79 s w0 g

IEET0T 4 e fafy g 3899 ®eM Z = —50x + 20y 1 <IAad A fefared
I ok A A RIS

2x—-y=>-5 . (D)
3x+y=>3 .. (2)
2x -3y <12 .. 3)
x20,y20 .4

%ol 999 Teel 79 (1) ¥ (4) T o 10T ehTd R GO & T STeiE @ied
T FfA 12.5 § U & (SMEifeq) @ w21 fem wife 75 gem e
TIfEg 2l

319 B9 HE fogstl W Z &1 71 ot 9 &

Y -
@ &g | Z = - 50x + 20y
©,5) 100
0, 3) 60
(1,0) -50
(6,0) -300 < |94 ®H
N
Y "x7 8910 X
¥ (6,0)
3x+y=3 3TeRf 12. 5

Rationalised 2023-24



412 TTfurd

39 GRON U BH A i € foR i {65 (6, 0) W Z 1 ge %wH HE -300 2
1 0 HE Thd ¢ foh Z 1 a9 A 300 B2 &4 e o afx & afeg e
Al T Z 1 Fad HE A (W 2 W) B iR 39 TR <@ © T gEa & oriies
21 38T ~300, Z 1 <AqH O € o Tehar ® I T ot 3@ e w6 frekd
#H oh forg en frafafaa s &1 e e €

= 50x + 20y < —300
31 —5x+2y<-30
3R it HITST foh erE g Ww Gel e o gETd &5 § Ss9ars fag § o e
21 A 9 Swafss fog &, 990 Z 1 =Fam 9 -300 &l € e, Z 1 =Adn
A -300 BT

St o emeRfa 12.5 W fe@mn e ©1 gHieny, Z =50 x + 20 y, 1 EW SHeEl o
e § =FaH 7 T/ R

ST SR W A1 Y W™ B Hhd € fh Z =-50x+20y, (0,5) R
Afershad 7 100 W@l 8?2 gHeh foqw, Sife shiferg foh a1 — 50 x +20 y > 100 1 3@
FET &5 o WY IwArTS fag T B

SarEtur 5 Trefatad el o @, Z = 3x + 2y 1 FAGHR0T hHITT:

xX+y=>8 .. (D
3x+5y<15 .. (2)
x20,y20 ... 3)

o rEfmemet (1) ¥ (3) &1 ofei@ Wiy (STehfd 12.6) 1 91 HIE GaTa & 2?2
I% TH i B2

ST 12.6 © 9 6 T Fehdl ©
for Qe wig fag 7t € St weft el i
T 19 Hq= Y Honl 3T:, A H
gHTd B T 2
feuruit 3SrETen & foment fad=m &9 o™
% H ok ¢ foIGoh S¥N W B9 §9
Yaer dme THEE i e e
F1 Ieoi HW B

(1) & &5 Tea 3Tl Sl el 2|
(2) STYT WA HT STfYUFAH (A
=JAd9) T GETd &F °F WH W
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(%1 W) ferm g 21 Ak By wod o @ wHE fog (3d) @
Afshad (1 =Aq9) I FIH F & o 9 faget o foam arelt Warae @
o g off TmE Afusan (a1 =Eaw) |/ S

| womraet 12.1]

gt fafy @ fret Wass diome guenst s gl s

1. T o/oRi o AT Z = 3x + 4y 1 STIHAHHIT HifST:
x+y<4,x20,y20

2. 99 oYl o AT Z = — 3x + 4 y T FAGHRIT HITT:

x+2y<83x+2y<12, x 2 0,y=20

1 TRl o STAd Z = 5x + 3y Tl ATTHAHIRI HifST:

3x+5y £15,5x+2y<10,x 20,y>0

4. T 0l & @A Z = 3x + Sy 1 FAAHRIT FHIIT;
x+3y 23, x+y=22,x,y20

5. T4 ool o SI@d Z = 3x + 2y 1 FAGHIHIT IS
x+2y<10,3x+y<15,x,y20

6. T sTEUl o WA Z = x + 2y ST IAHIR HITST:
2x+y23,x+2y26,x,y>20

fe@mn o Z &1 =gaq /M < fogen @ e foge w wfea g 2

7. T ool o @A Z = Sx + 10y ST AGHHLI T2 SIRAHRLT TS :
x+2y <120, x+y=260,x-2y>20,x,y=0

8. T ool o AW Z = x + 2y 1 =ATHIHT T SATEHAHIBLI hiToT;:
x+2y2100,2x-y<0,2x+y<200;x,y=0

9. 7 aul o AT Z = — x + 2y F STIHAHHI HITST:
x23,x+y25x+2y>26,y>0

10. =1 3eRdl & @A Z = x + y 1 ATIhaHieniur Hifera:

x—-y<-1,—x+y< 0, x,y 20

w

efeTfaer feoguit
fgda fava g #, 5@ g FaweH & deq o, a9 fe wgst &t
ZAqH =9 W 3Afewan 71 T8, es woma fafy sifaa ® o)
fas g o & 9o YR 1 gAOd &9 I L Kantoro Vich T
sTfEt S1efRme L Hitch Cock o 1941 # fU) I < @ €9 § & foral
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9 YA h! GREET-99E o M § S TN E 1945 H USRS
G.Stigler = Yaeh WHHA THEA, o Sarid 3an STER Heell FE 1 9 foha|
91 1947 H G.B. Dantzig 7 T <& qui fafyr st fouersy fafy o5 79 9 ufes
%, 1 Gea o <t g WmE Henst i Wit Y § gol i shi G
fafy 2

e g fafe @ gRies % % o wRU § 1975 | L.Katorovich 3R
SRR U TSR T.C. Koopmans i 37¢f ¥ § Fidd R YR TR
T IREheT e STEvash WiTeaal oh STNTHA oh §1Y He &A1 i Sied qHee
o aer womE giaty o SEEn § ST 9hg 8 @R

O/
— ... —
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